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103# 200,49t 25 40,26¢ 62,10¢ 821 97,27¢ 62,11. 53,027. 85.4 5,215 14.z 3,859.! 1.67
104 & 194,42¢ 8 38,45¢ 59,05( 1,59t 95,31¢ 59,05( 50,373.: 85.2 4,924.. 28.4 3,724. 1.6
105#& 197,90: 10 37,99« 55,847 4,90z 99,15( 55,83t 47,085.! 84.: 4,844( 29.t 3,878.¢ 1.6¢
62 16,369 — 3,011 4,947 356 8,055 4,937 4,203.0 85.1 387.2 4.5 342.2 1.53
7% 15,829 — 2795 4481 400 8153 4,498 38125 848 3756 48 3052  2.08
87 17,379 4 2786 5003 525 9061 4,994 41508 833 4602 40 3700 167
9 16,465 1 3870 4415 442 7,737 4416 36757 832 4267 13 3124 164
102 16,945 1 3546 4,182 480 8,736 4,199 3,508.9 83.6 376.5 2.0 311.7 1.55
117 18,150 1 3471 5143 481 9,054 5,127 4,332.9 84.5 428.2 — 365.9 1.80
127 15,909 1 3142 4,248 427 8,091 4,294 3,618.5 84.3 3734 4.0 208.2 1.69
106#1-67 106,65} 3 19,60: 29,38¢ 2,46¢ 55,19¢ 29,32¢ 25,000. 85.2 2,229.. 11.¢ 2,084. 1.5¢
& E A% 9.7 50.0 6.6 3.6 15.0 14.2 3.6 4.3 {0.6} -7.2 -14.2 8.8 -0.06
12 17,581 2 2,775 4915 654 9,235 4,859 3,990.5 82.1 460.8 2.0 405.7 1.46
27 14,649 — 2,850 4,513 121 7,165 4,520 3,767.8 83.4 381.0 13 369.9 1.58
37 19,420 — 4,136 4,978 440 9,866 4,965 4,226.4 85.1 373.2 15 363.9 142
4% 16,705 — 3,036 4,441 407 8,821 4,442 3,850.0 86.7 291.9 3.0 297.1 1.85
H* 18,455 — 3,283 5,021 367 9,784 5,012 4,311.9 86.0 363.6 0.3 336.1 1.58
6°” 19,845 1 3521 5521 480 10,322 5,528 4,854.0 87.8 358.9 35 311.6 1.63
&g FEY 7.5 — 7.2 10.0 30.8 5.5 10.3 12.6 {1.8} -1.3 960.6 -7.3 321
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